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1. Aninfant holds a toy initially using
his palm, as he grows holds it with
fingers. The development principle
that explains this ....

(1) Development is predictable.

(2) Development is interrelated.

(3) Development proceeds in
cephalo caudal direction.

(4) Development proceeds from
general to specific.

n¥ BNy STWsnde Jxde 8% bA3BD

GREFACD SepBsocris. DSy, 50 TN

358 Bugmewrss. 820 DN8eD wrEe

(1) ISP ?.".:;_5_:;‘5:.‘3;‘:“ 3.

(2) Jzmse BOHY Sowele doceved.

(3) Jeide B8 ForPhnpem SHRbBSD

(4) Isite SEUm 8% Wwod J0R O
Ehaarrotoch.

2. One of the following is not a
characteristic of emotional
development during adolescence.
(1) Generalised excitement.

(2)  Emotional instability.

(3) Fear and anxiety.

(4) Confusion and uncertainty.

G 3ed PAE Turosus® B0 >RE

Bewspoll vEMmI

(1) it 1_;“:5

(2) S elve

(3)  gouss Roldiss el

(4)" olio weluie &l43
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Part - I : Child Development and Pedagogy

3.

[2]

A student studies hard to retain the
‘star’, awarded for her best
performance in class as she was
told by the teacher that she will
loose the star if her performance
decreases. The reinforcement that

is making the student to study hard
T N

(1) Negative reinforcement
(2) Positive reinforcement

(3) Primary reinforcement
(4) Punishment

¥ OB, BEROSE® BEGoIN JEHs T
oW RS ol “nyBe (star)r s
ceBeSReel SERG DEoHneinh. BN ook,
AXED BARS “HyB” B BSweTeed
Sotoll &FTOInTe Rk JbyEd.
e ey B5SE Biovpbesre DoiBEsg,
Llbehe.

(1) zoereus PoGEse

(2). STGE TRbete

(3) Sraoxs yistweito

(4) sosn

A class VIII student helped her

classmate in learning English. The
transfer of learning that has taken

place is ....

(1) Positive

(2) Negative

(3) No transfer of learning
occured.

(4) Bilateral

LT AT v

L3 JULEL BUND Lo, & ;:'ggaé.
wolfsn wigotiond® HiFaLBdns. Y&

0N el N ndorosoen).

(1) ensre
(2) @oxre
(3) wboranoy mtolits
(4) &6
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5. One of the following is suggested by

NCF-2005, with regard to learning.

(1) Learning should take place
within the class room only.

(2) Students should be passive to
acquire the knowledge from
the teacher.

(3) Learning should be teacher
directive.

(4) Learning should be in the
wider social context.

dcomadt wPpsnm Bowelod, NCF-2005

nrdowsd.

(1) et BEHO K08° SrEds =omd.

(2) & ggaven ool LT
WHafoloey | R0 dangdied
iSOG Ser doarl.

(3)  wgisss adorah W0 deol.

(4)  egasoe ApHd Soioy vehusdt ntmd.

6. The physical factor that effects the
development of an individual.

(1) Temperature

(2) Food

(3) Hormones

(4) Light

Ngd Dite (erle Lrbod ThBEE e

(1) 3o

(2) eitones

(4) oo
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Heterogeneity of the class room
shall be viewed by the teacher as
- .

(1) Source for learning.

(2)  Hurdle for students’
adjustment.

(3) Need for segregation of
students for class room
transaction.

(4) Burden for teacher.
SSF Ot Jrddl BUKO HBN S Lgem
el 38

(1) eggs sotom

(2) Sodise SWumeel wwelor
(3) oo SrPgsissant IogEei
‘:.i"‘ 1'30‘5.\:&...: e

(4) &Spusis gom

A student of class V frequently
exhibits temper tantrum. This
indicates that the child has problem
relating to this domain.

(1) Cognitive
(2) Conative
(3) Affective

(4) Psychomotor

&5 =ln SONG WL LoOoom e
.m:m... DOQN T Wy T Ve T R

BrLsel.

(1) ‘seept
(2)  Boumid
(3) iy

(4) Souhs - oty
&
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9. A student who has not studied
properly, to cover his faults, blames
the teacher, saying that the teacher
has not taught properly, .... is an
example of  this  defense
mechanism.

(1) Projection

(2) Rationalisation

(3) Compensation

(4) Identification

pifape R 1 e - o0 B SR
Foyptanfitees arggnGs  wom
SPUBET Do T SEIH TEE Bodo
(1) @gine

(2) Iruodsteme

(3) w&tse

(4)  orod, S

10. Students of class V could not
understand the lesson as it was not
organised sequentially.

The factor of learning that
effected the understanding of
students is ....

(1) Personal.

(2} Environmental.

(3) Personal and Environmental.

(4) Neither personal nor

environmental.

o 1B 1IN’ HadEeny Foke vy 5

GEKO Davlyes wio WiSBE HFairds.

Jordon eRTINNN Herlto WD wgigh

oo,

(1) wgne

(2) =osorus

. T R L e T e

‘3‘] eSS aloban HEaT \-#3

(4) B3NS 2o weldis SORoEBE 8
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11. According to Piaget theory, a child

12,

4]

gttributing life to inanimate objects
I8

(1) Object permanence

(2)  Animism

(3) Organisation

(4) Reversibility

SOUPE RewrTlS Lorobuxn Eole, MLl
srrasss HeBl FiR) wulidies L)

{2} o -..C‘_gi.. i
(3) B fg.’.‘.'s‘:rt:
(4) Jusursse

Identifyv the correct statement from

the following :

(1) Teaching is an interactive
process, learning is a passive
process.

(2) Teaching iz a passive process
learning is an interactive
process. =

(3) Both teaching and learning
are interactive processes.

{(4) Both teaching and learning
are passive processes.

200 8" 0% T3 1o0olisd.

(1) S50 sono Bovts (dc, oggh
Dy oGS SEc.

(2) $U S OIPEE (B3, et

(3) Sou

Lo AT - P S A
Fe el e v ] w.'n'-r'll'n:m

g e e
BovgEy (3and.

(4) Sfo9 oddin wigs Tods rG
- . - PR ]
ToER.N ]
w.::-;.h\.r\v o= :r\-:-H-HJQ.
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13. If all the high schools are provided
with sophisticated educational
technology ....

(1) Teachers can be replaced
totally.

(2) One teacher can handle all
classes.

(3) Provision of ‘one teacher for
one class’ is sufficient.

(4) Teachers can not be replaced.

DonretoNEe wololniond ...

(1) edgroins Faody $r8m 8 Siged

(2) =3 adodiands BENGuIESY
s llieds

(3) X BUNO3 3 &Srpciesly ¥Ea
pols e 2 IV

(4). adrerotne Foiy 498 Sandine.

14. A boy in your class always looks
confused and indecisive. As a
teacher you would ....

(1) take decision for him.

(2) tell him to approach elders.

(3) provide him guidance to take
appropriate decision.

(4) ask him to follow the
instructions of teachers:

D BEROSTN oF LIS JAEE OuNSS

BB gae SsBaBost anco. o

ﬁf:‘;:'s%mal (n.ru‘, P

(1) bl 5 Jdse Sitetseurmy.

(2) oo Soidolitod will Buwiyoy

() 185 Jgares HESNlolsds wdRd
SPUELGES 3.

(4) &g Brlhehy SJolked
Tlla b))
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As per the ‘social constructivistic
theory of learning’, the role of the
teacher in the class roomisa/an ...

(1) Demonstrator

(2) Instructor

(3) Facilitator

(4) Spectator

D T30 Srmaas hosts

The ‘plateau’ in the learning curve
indicates ....

(1) Learning is completed.

(2) Learning began.

(3) Increase speed in learning.

(4) Temporary arrest in learning.
e 5¥0pe® bugrls &% AR BrDides.

(1) e o8 sibde

(2)  efve Sbeginibe

(3) | egsinos® o Db

(4) egiesned® ooom b8 Duts

As per Havighurst ‘Developmental
tasks’ are ....

(1) Social expectations

(2) Medical norms

(3) Learning interests

(4) Educational mile stones
S0ph, Borte, i Hoves!

U) 3?3# EO0TPEY

(2) 25 @5Few

(3)  oggth widhe

(4) ZovEeaen Bwoy
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18.

19.

One of the following with regard to
learning is more appropriate :

(1) emphasis on process and
memorization.

(2) emphasis on outcome and job
placement.

(3) emphasis on success in
examinations.

(4) emphasis on process and

outcome.

3ol Chgivasiy tsusfol gl

(1) @8 SELTVET Sc¥htaeth

(2) $lede Lolaix algivesns
By gt yr Sy
1 I;l-"walfnﬂ -,h--

(3) ¢8558 Suairl3 Seribrtne

4) @@ RO RTT RN <
o= e SR

The stage of cognitive development
enumerated by Bruner which is
characterized by child’s
representation of things and events
in terms of non-verbal activities,
represents ....

(1) Iconic representation stage.

(2) Enactive representation
stage.

(3) Information representation
stage.

(4) Symbolic representation
stage.

. o W e e ]
(2) rhﬁ"u&.f ﬂ.-.;"’vau
(3) WoTU SOLg
(4) @So»ur
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As per the Right of Children to Free

and Compulsory Education Act-

2009, the child has the right to get

free education, if his age is

between ..

(1) 3-12 years

(2) 4-13 years

(3) 5-14 years

(4) 6 - 14 years

RTE 2{]09 e @e Y Bolliy Ne
= aod -:-v -.-l‘-l Hw - Da ‘L‘.JL Selo.

(1) 3-12 sens.o

(2) 4-13 it o

(3) 5-14 scutyores

(4) 6-14 sossoe

To learn about the agricultural

practices a child meets farmers, the
resource he uses is ....

(1) Self

(2) Home

(3) Community
(4) Technology

*"3”3"’1’ BHBors Dol H0o8® w¥
59 Shoie i, vl aRdRlodn Sty

(1)
(2) =z

(3) slowe
(4) close
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22 To conduct a teaching learning
activity, the teacher has to follow
this sequence ....

(a) identification of suitable
strategies and methods.

(b) assessment of learners’
capacities.

(c) evaluation of learning and
replanning.

(d) identification of learning
experiences to be provided.

SHTEEE Do dURreBond

GarEOioti O1 300 FPR PdoTd,

(a) ©B3 gogifes o0l BEBIUB
felotiow

(b) wgratden SEOT? (@0 GeUTreaiases,

(€) egton; Sorope¥ibe 3b. YN
(See0Y Dt

(d)  sBoulebs cEigTayTom
J"LQ::J.‘-Q

(1) b,d, ac

(2) ¢d, ab

(3) a,b,c,d

(4) d,a,b,c

23. ‘Over learning’ leads to ...

(1) Increase in proficiency:

(2) Decrease in learning.

(3) Decrease in memory.

(4) Causes disinterest.

‘wd ufsite 823 =8 Snsen.

(1) SSesgsi Dotsteel.

(3) CRLCEIE

(4) wonddn 58NSl
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24. A Headmaster takes decisions ali

by himself, this type of leadership ...
(1)

Laizzer faire

(2) Democratic
(3) Permissive
(4) Autocratic

ErSFooinG Blcte oW JgaAreso
SN POLEE; e¥ee ...

(1) &5urs
(2)  @erdngsog
(3) wwe

(4) Joes

25. A teacher who is not well, wants to

take rest, but also thought of
attending the  school as
examinations are approaching. The
conflict that the teacher is
undergoing .....

(1) Approach - Approach

(2) Avoidance - Approach
(3) Avoidance - Avoidance
(4) Approach - Avoidance

&8 adgmoint el Pne e IFed
GoSiromnmnt. 70 sje S Stos
Sen Tl Sfels areboNdocomiis.
eBEs JSel.cuniy ooy,

(1)
(2)
(3)
(4),

EBIR - AL

BOGE0 - &uENe
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26. One of the following should not be
done by the teacher while teaching

a lesson in the classroom.

(1) Using previous knowledge
and experiences.

(2) Use of appropriate method
and technology.

(3) Continuation of motivation
continuously.

(4) Teaching by giving more
importance to intelligents.
fed wUE adgoni:  IopETd

Sfooutes® Aanirsna.

(1)  roepars,, el
ana@rnonse.

(2) &A% Sovaens, So3oNEN
sudrisdde.

(3) (Ebesss DBoBss FadAsdte.

(4) epuctovss «QEFFTRHE 82

S00T8,

27. A teacher has developed a five point
scale to know the students’
preferences towards digital
teaching. The tool developed by the
teacher is .....

(1) Observation sheet

(2) Questionnaire

(3) Check list

(4) Rating scale

dded SEEp  donlie  ERBos

Dot oY &g So:L.:
.:1 Behs OPFeboTds

mEs oo
o adrgraiose
“*'é'::-x..a...re e

(1)
(3) 088G

(4) fDovbes BsD

%88 BiPe
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28. Children remember the eolours of
rainbow as ‘VIBGYOR' using this
technique of memory.

(1) Mnemonics

(2) Paired associated learning.

(3) Rehearsal

(4) Clustering

o1 ::-é_;.a E‘..-LE:&* &BEFR0D, Egm
FOIES BB ‘VIBGYOR’ ™
Resotesoerds.

(1) Sediotpe

(2) &0l Bol egigite

(3) wZdowsw

(4) oo Bihbwes e

29. All other abilities being normal,
. based on 1Q level, the children who

do not fall under ‘Children With
Special Needs’ (CWSN) among the
following.
(1) Children with IQ 0 - 20
(2) Children with IQ 30 - 50
(3) Children with IQ 90 - 110
(4) Children with IQ 130 and above.
Elatal 3‘-35‘ E.:T»‘E-L ?‘ngr.a n::":r."‘u[“cn u:&&
@Bred sgrlor ‘-MJS_, eUlTes o Lo
lCWSN)’ EG‘N., wetind J'Q."‘.’:‘-.J
(1)
(2) gered 30-50 = Solds e e
(B) Eeped 90-110 weg; fie boes
(4) Eered 130 &30 e Sew

E-

"s]

ﬂﬁ {] 20 = a.-Jn.,.dﬁ e a.-u-E‘nJ

fI

,ﬁ

30. According to Kohlberg, a child
shows respect for autEorit}r and
follows the rules during .....

(1) Pre conventional level

(2) Conventional level

(3) Post conventional level

(4) Inter conventional level
£l B3Uo, e T Foed® whmtor

=] :vﬁ:‘::\?'m
(1)

ww u.n.r

WG oAy SPose
2

(2) oot o
(3) é‘;ﬁﬁ e gmms éjmn

(8]
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Part II : Telugu (Language - I)
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32.

33.

34.

35.

9]

sk EhETRe Jesisoidn?

(1) Sy Seld
(2) Sopsdced

(3) woord Fouioed
(4) wousEeed

Br gy wRodbed WrYsStee JNUs
Pt DRTE?

(1) &eeo

(2) e

(3) scdvowo

(4) Sosto opre

S0 Bondscd’ e BOAS  DEgee
eocBlobmrad sRirme

(1) %8 Fousdiide
(2) %S wroe Lrtsy DobEFsLe
(8) &sgoy wdswe

(4) 5P&50es® dolice

DodErsed O BEOD B oy
edbiTnee?

(1) o 2oy
(2) D% Py STgwoireis FeeEn)
(3) owe doduomd,

(4) boo elransog

-

Page - 9


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

36-40: 308 15550 HET0E. BETPE 7S
Ehe S0aN SErgEd, ngoted.
WHTEw Sinde
5Doow Dudhodses Bolay, Bla
&5 89 %8bowses
B0 eoRelne, Pgubiindowd.,
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37. wFHerowe JNte?
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RN
(4) D& S, Newi

38. sl eno So0d oo

i

(1) =08 Gooyy
(2) ©=2s
(3) =0 ay
(4) wowsds
39. aird; 0cuESDY
(1) 2w, Bows, walizes
(2)  Sxidoie, Babime, mivse
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(4) 280, iy, o

40. «igub

(o

" QEETEe

(1) 38 Seatt> w850
(2) 3o mew wbuns

(3) 3o R ubuua
(4) 38 Qoo wbuwss
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Booklet Code .

Part - III : English (Language - TI)

(61-65) Read the passage carefully.
Child psychology is certainly not a
strong point with most Indian schools.
Why else would it inflict a double trauma
on a student faring badly in the pre-
boards by banning her from taking the
exams ? Often with total results as
evidenced by reports of student suicides
in the run-up to the board. Now the
Central Board of Secondary Education
(CBSE) has stepped in and put the
brakes on. This is good news for parents
and students, many of whom have had to
live with the threat of the performance -
linked department. While the schools’

logic is that in order to attract talented’

students, they need to maintain their
performance records at high levels, the
assumption that a student faring poorly
the pre-boards will replicate this at the
boards is faulty. Chances are that the
student will be spurred to work doubly
hard. On the other hand, the threat of
the department will almost certainly
impact her/his performance adversely. Of
course, linking pre-boards to the boards

is only one of the problems with our

school system.

Now answer the following questions
choosing the right options.

61. Choose the word which is most

opposite in meaning of the word
‘spur’ as used in the passage.

(1)
(2)
(3)
(4)

depress
enlarge
activate

sustain

TET-211-EM/TM

62.

63.

64.

[13]

Choose the word which is similar in
meaning to the word ‘replicate’ as
used in the passage.

(1) enhance
(2) achieve
(3) perform
(4) repeat

Which is the good news for parents,
according to the passage ?

(1) Schools will take the
responsibility of preparing
students for the board.
Schools will enforce discipline
to ensure higher attendances
of students.

No students can be barred
from the boards without prior
clearance from the CBSE.
Schools will provide study
facilities to the poor students.

Schools wanted to enforce
performance-linked department in
order to ....

(2)

(3)

(4)

(1) attract better quality
students.

(2) get regular grant-in-aid from
the education department.

(3) provide better study material
to the students.

(4) make students aware that

they would aspire for their all
round development.

According to the passage parents
had to live with the threat of ....
(1) falling grades of their wards.

(2) linking performance of their
wards in pre-boards to the
“boards.

(3) not getting their wards
admitted in quality schools.

(4) schools creating traumatic

situations for their wards.
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(66-70) The following passage has five
numbered blanks. For each blank,
four alternatives are given. Identify
the correct option for each blank.
Men who are always _(66) about

their poverty, complaining of their

difficulties, whining (67) their troubles,
and thinking that _(68) in this world is
mean and poor, _(69) never get any
happiness out of life or achieve

_(70) success.

66. (1) muttering
(2) mumbling
(3) grumbling
(4) groaning 72.

67. (1) over
(2) about
(3) with
(4) out

68. (1) alot
(2) lots
(3) overa lot
(4) their lot

69. (1) would L |
(2) will
(3) should
(4) may

70. (1) some
(2) a
(3) the
(4) any

TET-211-EM/TM [14]
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71. Identify the complex sentence from
the following.

(1) - We read books but they watch

(2)

(3)

(4)

T.V.

If you search for it in the

school, you will get it.

You go there or they will not

give you. |

She is not only good in
English but also good at

Maths.

He woke up to hear the sound of

bells ....... in the distance.

(1
(2)
(3)
(4)

Choose the right option to fill
in the blank.

clanging
banging
buzzing

whistling

Identify the phrase containing
Noun + Noun.

(1)
(2)
(3)
(4)

strong light
shed light
a light source

a ray of light
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74. (a) Amrita is getting married | 79.
next month.
(b) Amrita will get married next
month.
Read the statements (a) and (b) and
choose the right option.
(1) only (a) is correct.
(2) only (b) is correct.
(3) Both (a) and (b) are correct.
(4) Both (a) and (b) are incorrect. 80
75. When Padma stood first in class,
Rekha, out of jealousy, .....
(1) ate her heart out.
(2) lost her heart.
(3) poured out her heart.
(4) praised from the bottom of
her heart. :
76. I expect to get a prize.

The underlined part of the
sentence is called a Noun phrase
because ...

(1) it is the object of the verb

‘expect’. 81.
(2) it contains a subject and a

predicate.

(3) it qualifies the noun.
(4) it is independent.

77. Identify the correct passive
sentence.
(1) A nice house is had by them.
(2) I am not fitted by my shoes.
(3) A Greek goddess is resembled

by Sriya.

(4) The furniture was broken up

for firewood.

78. They ought to be more sensible, _
......... ? 82.
Choose the correct question |
tag to complete the sentence.
(1) oughtn’t they
(2) shouldn’t they
(3) musn’t they
(4) can’t they
TET-211-EM/TM [15]

A

Choose the appropriate reply to an
invitation.

(1) Sorry. I'm afraid I am not free.

(2) I was terribly sorry to hear
that.

That’s very kind of you.
Thanks, I'd love some.

Booklet Code

(3)
(4)

This man on TV said that

dinosaurs .......

Choose the later part of the
sentence which is grammatically
correct.

(1) had been around
250 million years.

for

(2) were about 250 million years.

(3) were around for 250 million
years.

(4) have been for 250 million
years.

One speaks / a strange dialect /
(a) (b)

where / I came from

(c) ()

The sentence is divided into
four parts labelled as (a), (b), (¢) and

(d). Identify the part of the
sentence which has an error.

(1) (a)

(2) (b)

3) (e

(4) (d)

John hates women. He is a ....

(1) misogynist
(2) polygot
(3) prodigy
(4) mercenary
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83. Read the parts of a sentences

86.

(a), (b), (e), (d) and (e), which are

jumbled.

(a) cashed on their internal rifts.

(b) entering these countries for

: commercial gains.

() and ultimately became their
rulers.

(d) the British slowly stepped into
the internal politics of those | g
countries. ’

fe) and over a period of time,
gained total control.

Now identify the right order.

(1) (d), (b), (c), (a), (e)

(2) (a), (b), (d), (e), (c)

(3) (b),(d),(a),(e),(c)

(4) (b)), (d), (c), (a), (e)

88.
84. Identify the ‘one word substitute’
from the following.

(1) ride

(2) participation

(3) successful

(4) omnipresent

85. In the activity called ‘Scale

drawings’ used to develop speaking 89.

skills of students, ....

(1) One student passes the
information verbally to the
other from a graph / picture
with a few gaps and the other
tries to fill the gaps.

(2) One student produces a
diagram from the other
students’ description on a | 90.
given squared paper.

(3) The students guess what it is,
when the teacher draws
something indistinctly on the
blackboard.

(4) The students draw the picture
based on the clues given by
the teacher.

TET-211-EM/TM [16]
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Remedial teaching is .....
(1) nothing but re-teaching.

(2) something where achievement
is expected to be very low.

need not be highly specific and
need based.

(4) more like a crash course.

(3)

One of the features of Reflective
teaching is .....

(1) Predicting
(2) Clarifying
(3) Summarizing

(4) Gathering new evidences.
Listening to public speeches
belongs to .....

(1) Focussed listening

(2) Gist listening
(3) Appreciative listening
(4) Casual listening

Another term used for graphic
organizers in English Language
Teaching is .......

(1) Information transfer

(2) Graphic Reading
(3) Almanacs
(4) Discourses.

One of the following helps us to get
a bird’s eye view of the book.
Identify it.

(1) Jacket
(2) Front page
(3) Blurb

(4) The preface
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91.

92.

93..
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PART IV(a) : Mathematics - Content

If log,,2=0.301, then the number

of digits in the expansion of 527
is ...

log,,2 = 0.301 eoxd 52017 @y,
256026 o Soxg

(1) 1408
(2) 1409
(3) 1410
(4) 1411
9 1
If x= .then Jx +— = .....
2+J§ I+J;
2 1
xr= ,-r-.ﬁc-a:é: J.—+_H
2443 & Jx
(1) 2v3
(2) -2J3
(3)- 2
4) -2

The number of pairs of natural
numbers, whose GCD is 5 and LCM
is 105, is ....

Kargr, = 5 Sobcks 5.0, = 100 o Ko
Bre SogPCinmTe Sopg

(1) 1
(2) 2
(3) 3
(4) 4

TET-211-EM/TM
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94.

95.

96.

The sum of all three digit numbers
which are divided by 5, leave the
same remainder 4, is ....

—egho

(1) 1,98,540
(2) 99,270
(3) 88,963
(4) 1,777,926

Let A and B be any two sets. Then
which of the following is false.

A, B oo 550 o> 3205083 308 w6 D0

u‘:&rasa;a?

(1) A-(AnB)=A-B
(2) (A-B)u(AnB)=A
(3) (A-B)n(B-A)=0¢
(4) (A-B)UA=B

Let A be the set of all points on a
cirele with centre C and radius
r > 0 and B be the set of all points
on the straight line passing through
C.Thenn(AnB) = ...

C domswn mebatin r > 0 gy rie
e o8 Desisipe 1208 A B:8ain C oo
gy woedas Do Dotope 320 B wonsd
n(AnB)=...

(1) O
(2) 1
3) 2
(4) oo
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97. If sinf +sin’6 =1,
then1+cos®0+cos*o = ...
sin@ +sin®0 =1,
wond 1+ cos20 +cos?O = ...
(1) 2
(2) 1
(3) 0
(4) -1

98. InaAPQR, right angled at Q,
PR + QR = 25 and PQ = 5.
The value of tan P 1s ...
APQR,; 8 Q & vowSato Seds.
PR + QR = 25 %803 PQ = 5 saxd P
«ini'.';; SIOITET wrese
(1) "‘7'

24
(2) ‘2-%
7
(3) i
12
12
(4) E
TET-211-EM/TM

(18]

99.

100.

Jooklet Code A
The angle of elevation of the top of
a building from the foot of a tower
is 30° and the angle of elevation of
the top of the tower from the foot of
the building is 60°. If the tower is
50 meters high, then the height of
the building in metres, is ......

w¥ Shps PEse Sood w¥ FHFER
& S'eaio0 307 HoBctan SRS ook
ooty & S'an 60°. Bptnee dwl,
69 50 ooty eoad, FEEEn oY, Jty

(f.-:ug’-’f'}

(1) 50
50
(2) 3
(3) 5043
ﬂ
@ 7

Let b,ce {1,2,3,4}. If the equation

x> 4 bx + ¢ = 0 has real roots, then
the number of ordered pairs (b, c)
18 ...

b: = {11. 2: 3: 4}: x2+bx+c=0
BhusemRd D Sarerwsod, (b, ¢) Eo

Q0T o
(1) 7
(2) 8
3) 9
(4) 10
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101. If S, is the sum of the first ‘%’ terms | 103.
of the arithmetic progression a, as,
S 2
as, .....and =2 = %. then Zm — ..
n n- GH
@y, s ﬂ'j., ..... G W:jé db:s:; sl
g %
‘R’ vore Db Sy elaiw =L = %
S, n°
eond M
I.‘I"
2m+1
1
(1) 2n+1
@ o=
2n+1
3) 2m-1
G 1
(4) 2m+1 104.
2n-1
102. If the linear equations
3x +by+a=0and
ax—2y + 12 = (_represent the same
straight line, then a® + 6% = ......
3x + by + a = 0 He8as
ax -2y + 12 = 0 5 Sha whosteres o
sotbano woh, a® + b2 = ...
(1) 37
(2) 35
(3) 27
(4) 25
TET-211-EM/TM [19]
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If three coins are tossed at a time,
then the probability of getting
atleast two heads, is ....

(1) 2
8
b
(2) s
(3) L
8
(4) L
2

If the mean of first ‘n’ odd natural

2
numbers is L, thenn = ...
121

2ooted ‘N’ B Wre Sope wolilicds Bk

nﬂ

121 _ B
(1) 11

(2) 121

(3) 12

(4) 144
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105.

106.

TET-211-EM/TM

If AP and AQ are tangents drawn
from an external point A to a circle
with centre C and radius 8 ecm and
AC=17cm, then AP + AQ = ...

(1) 15cm.
(2) 2bcm.
(3) 30cm.
(4) 36cm.

C ﬁalam 8 =M a-.-.: ;‘3
u’msbﬂt:\:‘QAMdhﬁl wed v " o

AC = 17 2o.bo. soxnd Af’ +AQ = ...
(1) 15 ne.ms.

(2) 25 ne.la
(3) 30 ma.ke.
(4) 36 =2

If the points A(1, -2), B(3, 1) and
C(-5, 2) are vertices of a triangle,
then the point of intersection of the
side BC and the bisector of the angle
ZBACis .....

A(l, -2), B(3, 1) »:8e535 C(=5, 2)
dodses =¥ Bz %G-::axé, BC goemas

wdais ZBAC S S5o8madill Ge o8l

li}
33

0 |-
(
o |

Doy

1]
3

107.

108.

[20]

Booklet Code A
If the slope of the straight line
Joining the points (- cos 0, sin 8)
and (cos 0, — sin 0) is

-l.} e i 3 3
cos* 0 + cos®0 sin®0 + sin?0
Fi

o
Lﬂ‘:ﬁ‘:a}. then cosf = ...

(- cos 0, sin 0) “:0cks (cos 6, — sin (

Dotopeis 03 3ueds Gy, e

cos*0 + cos?0 sin®0 + sinZ0

(;ﬁb: ﬂ<ﬁ<% )smé, cos B = ..

1
(1) :,7—2‘
@ B2

2
(3) l

2
(4) 1

ITf AD, BE are medians of AABC ar
F is a point on AC such that DF
parallel to BE, then CF: AC = ...

AABC & AD, BE e Sodo rogigiv €
obois: BE % sirestsem DF écte

AC 208 Doty Feasd, CF: AC =
(1) 1:2

(2) 1:4
(3) 2:3
(4)y 3:4
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109.

110.

111.

TET-211-EM/TM

If the areas of three adjacent faces of
a cuboid are A,, A,, A,, then its
volume is ....

5 Bghatie ok, ity Saegre dPoes A,

Ay, Ag, o, QU Pislirehs

(1)
(2)

AALA,
AIﬁZA:’i
(3)  (AA,A,)°
(4) - (A,A,A,)°
A hemisphere and a cone have equal
bases. If their heights are also equal,

then the ratio of their curved surfaces
will be .....

(1) 2:1
(2) 3:1
(3 J2:1
(4) \;'E'.l
The curved surface area of a right

circular cylinder of base radius ‘r’
is obtained by multiplying its
volume by ...

i 1 - 2 £ 5
g fo L] W G, i T e
PETE UL T fe e u..:ai\s__ wiEthe

POy Folistiss &Y FoLBlLTTl,

o

{ 112,

113.

114.

[21]
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The diagonal of a rectangle is 17 cm
and its area is 120 ¢m? The
perimeter of the rectangles ...

(1) 23 cm

(2) 32cm

(3) 30em

(4) 46cm

o3 Oy SuotEon Doy, Sgwes 17 e,
wedcio &3 ovegie: 120 U, Dl wond
85 LEEEY BowSled

(1) 2322

(2) 327%s.2.

(3) 30 %e.o.

(4) 467%c.2s.

In a school, the ratio of the number
of boys to girls is 7 : 4. If there are
140 girls, the total number of
students in the school is ....

il
B T T T D T S
——— S u.:""u\:b, Lo s-la:'f

(1) 245
(2) 285
(3)- 385
(4)

345

A sum of Rs. 12,500 amounts to
Rs. 15,500 in 4 years at the rate of
simple interest. The rate of interest
1 TS

Dpues 68 4 Houte DoRl

g 12,500 cies 82.15,500 2ests

0D, Nty =
(1) 6%
(2) bB%
(3) 4%
(4) 3%
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Methodology

115. “The pupil categorises pol}rncumia]s 117. Learning by doing and learning by
on the basis of their degree”. The living are the main principles of ...
academic standard achieved by the i Beurisis method

student falls under .....
(1) Problem solving (2) Laboratory method

(2) Reasoning proof (3) Project method
= 4) An i
(8) Comiriunioation (4) alytical method
] . J' doses & ‘n‘ ém -

(4':' Cﬂnnectlon e OIS0 -‘_:G“ uﬁ.:jé‘:}nt‘.a Saloiay Elovow
0 wiinShtio winesl A By, MrBtwes.

GO S et ) B0GPro SRslo0

;‘JQEGG;'JHJ.” El:I-_i-.J b 59 l‘btawh‘tﬂ (1] L"aém ‘"‘Eu

SRy (2). @i 850

(1)- oy S (3) ©¥em S0

(2) obePes - WEFSee (4) ohues w850

(3) sosstude

(4] “wEmegrse 118. The evaluation tool that assesses

students, academic performance

116. The approach adopted in the T S
curriculum of mathematics at ;
secondary level in Telangana state (1) Aptitude test
1S ...
y (2) Intelligence test

(1) Topical
(2) Concentric (3) Achievement. test
(3) Spiral (4) Diagnostic test
(4) Concentric and Spiral. Dordise LEAEtRS RN Wby Dok
doenrrs "g,:'&" B¥edd Fox el ..u:'svsog‘u Fe
:.-:T“S'\:f: c""lﬁi whvollown hwu’ (1) some iﬁmg 5 w5
(1) aes (2) @ sy

3) 3w (4) &% vorem L5y,

(4) D¥de eboss W&e

TET-211-EM/TM 122]
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119. The main aim of recapitulation in | 120. The teaching programme in which

Herbartian model of lesson student participates actively for self
planning is .... learning at his own pace is .....
(1) to know the extent of (1) Projects

objectives of the lesson

achieved. (2) Programmed learning
(2) to present the concept. (3) Laboratory work
(3) to assess the pre-requisite _ _

knowledge. P a (4) Micro teaching
(4) to supervise the learner. s oS08 oo egiie TP DO
IonBioS MBS BRarE® bt Botetm SRt i ST doie
G3a0k), Woopy G0

(1) E¥eyien

(1) Soeic ey, eFgee J80%

Jootdus ook : (2) s sseamst wiisoe

(2) oronne Dhleulie
e o (8) @arwo 52

(3)  gtsem way |
P (4) woy &%

(4) wurestd SEmiohte

TET-211-EM/TM (23]
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Science - Content

121. Choose the correct pair of short | 124. Animal with sharp incisors ....
term crop.

(1) Lion
(1) Jowar-Green gram.
(2) Green gram-Black gram. (2) Rat
(3) Black gram-Red gram. (3) Cat
(4) Red gram-Jowar. . (4) Dog
RS SOuD R B e dol B8PS Webes (incisors) Ko wetoy

(1) & -0
-,

(2) 5 - Sometes

(3) Zewstios - 500 (2) Qoo
(4) %ol - &%y (3) %%
’ i (4) 05,
122. Identify the odd disease based on
the group of causative agent. :
(1) Typhoid 125. Find the incorrect statement.
(2) Cholera (1) Abiotic and biotic factors are
(3) Tuberculosis structural components of
(4) Swine-flu- ecosystem.
TG ele Gaoty, SHariee ugten Pmt (2) Detritus food chain starts
TON Megened. from litter.
(1) SPoxk (3) ‘Aphids’ occupy “2nd trophic
(2) .._;, level” in the food chain.
(3) zowTd (4) Herbivores occupy first

@) S trophic level in a food chain.

WO LENgohe foGoted.

123. These are "called microscopic (1) s BoBatio 288 TUmes, Gt B3
?f}me;;:};r Sk, Dol wiissames,
(2) Blood platelets (2)  Srootit bty Feols DBy
(3) Neutrophils Srnide {.C-..--':':E} Geed
(4) Monocytes S
D3N REHLE FLGRD m L. (3) wisy Foowod® Wpbes’ Bosd
(1) o syserw Ao’ &° doeran
(2) o5 pedses (4) wHey Sosnd® Tt Tedd
(3)  wres%d 3“*-“3;;.1:5 &owron

b .
réj' :
&

(4)

TET-211-EM/TM [24]
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126.

127,

The cell-organelle which helps in
manufacturing of hipids ....

(1) Golgi complex

(2) Chloroplast

(3) Smooth endoplasmic
_Reticulum.

(4) Mitochondrion

Eube oordl FGd Seraiic

(1) g sodse

(2) o5

(3)  wewelp wobll Ehgree

(4) Zofapodans

The stage in mitosis in which
chromosomes are aligned at the
equatorial plane of the cell.

(1) Prophase
(2) Metaphase
(3) Anaphase
(4) Telophase
sholgend® SFarsoe ¥eloddd Ao
et &
(1) s &%
(2)  Sog &%
(3) Sen &
(4) Col, &%
128. ‘Edema’ is related with ....
(1) Digestive system
(2) Respiratory system
(3) Nervous system
(4) Lymphatic system
DB Be BEnE Bowogio KONNA.
(1) =g a@y
(2)  =gs s
(3), =& uwy
(4)  $has ngs
TET-211/EM-TM
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Water reaches top of the tall trees.
due to the phenomenon ....

(1)  Transpiration

(2) Respiration

(3) Photosynthesis

(4) Guttation

g st Dt 320 meld e BBk ovwo
Sotocl,

(1) e

(2) =gadab

(3)  3oeamisg Sorndcaw

(4) Dozaue

Match the animals with their
excretory products and choose the
correct answer.

I. Urea (A) Freshwater fish
II. Uric acid (B) Frog

III. Ammonia (C) Snake

I1-B, II-C, III-A

I-A, II-C, III-B

I-B, II-A, III-C

I-A, 1I-B, 1II-C

(C)

D
e retL

(1) I-B, II-C, III-A
(2) I-A, II-C, III-B
(3) I-B, II-A, III-C
(4) I-A, II-B, III-C
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131. This is a modified stem.

(1) Carrot
(2) Radish
(3) Potato

(4) Sweet potato

28 BErretite Dol Tvodo
(1) =as

(2) Seogen

(3) womedons

(4) oeresses

132. Smooth muscles are found in ....

(1) Arm
(2) Leg
(3) Heart

(4) Alimentary canal
Moy ¥edioree e wl0 gpile
(1) P
(2) =
(3) et

(4) Zozes

133. Find the time period of the wave,

whose frequency is 400 Hz.

= k= D kb w o ks L

4[]{] -‘E Do L P Py R e BRR, o b 3

P WNaleie D N SIS [== 1, W RN
B b bt B/ 4

L CThar a
5’0@.“1_& :ml (=l

(1) 0.0033 s
(2) 0.0011s
(3) 0.0025s
(4) 0.0044 s

TET-211/EM-TM

135.

136.

1261

134.

A

Which of the following friction has
self adjusting force ?

(1) Fluid friction

(2) Static friction

(3) Sliding friction

(4) Rolling friction

300 RS feloe Blwes oo’ ¥DAN Sefe
(1)  E=ir g

Booklet Code

(2) 0% g
(3) ertos $ogm

(4) St 28

The minimum distance from real
object to a real image in a concave
mirror is ....

PSS Sthred Jwiisnd, Jw @ODowrds
Bols ife ¥, Krde

() F
(2 2of
8} fil2
(4) 0

We feel warm after finishing our
bath under the shower on a hot day,
is due to ....

(1)  Humidity

(2) Condensation
(3) Evaporation
(4) Freezing

= 48 2

it Feod® Moo Ihn voys w86 DT
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137.

138.

TET-211-EM/TM

The lens which can form real and
virtual images in air, is ....

(1) Plano concave
(2) Plano convex
(3) Bi concave

(4) Biconvex

08 ve sebosw T woLewree QS

Hesldeo
(1)
(2) sote Sopmy

(4)

Find the length of the conductor
which is moving with a speed of
10m/s in the direction
perpendicular to the direction of
magnetic field of induction 0.67T, if
it induces an emf of 6V between the
ends of the conductor.

(1) 0.6m
(2) 6m
3) 1m
(4) 1.2m

0.6T walodet wiloir ol NEA
005 vover 10 S/ Ened xovste,
TS O J90e Bols BV JdaTmel wee
(SOoBedD e K Suyse Weshed.

Hi ]

(1) 0.6 Z..
(2) 6.
(3) 12
4) 1.22%.

139.

140.

127]

Booklet Code

The boiling point of Argon is ....

(1) -183°C
(2) -186°C
(3) -196°C
(4) -193°C

Power supply to our home from the
electric pole will be interrupted due
to formation of the metal oxide
layer on the electric wire. The
metal oxide is ....

(1) Electric wire damages.

(2) Electric wire breaks up.

(3) Works as electrical insulator.

(4) None of these.

525 toge Meed Bob ot e 3h D&
r €52 & o D0
S e ¥

(1) 2Es8 & apused.

(2) 2558 &x endeesd
(3) 28 A8gem Brtobocd.

(4)
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141. Arrange the following in the | 143. Element with atomic number 15

increasing order of their pH value. and mass number 31 is present
(a) gastric fluid i

(b) milk of Magnesia (1) Group 15 and Period 4

(¢) blood (2) Group 15 and Period 3

(d) lemon juice (3) Group 5 and Period 3

208 TOS° pH Jeot 107 oo (4) Group 5 and Period 4

(a) gt go Boree Bops 15 wobcks EHoR Hew
(b) o8, &b Bedew» 31 @ He Serete PN

(c) o3 (1) 153 oy, 45 ook

(d)  axsEse (2) 15w gy, 30 Loans

(1) a,b,d, ¢ (3) 5% oy, 3o boank
(2) a,d,b,c (4) 5o gomy, 45 SociE
(3) a,cb,d
(4) a,d,c,b

144. We get Silver metal (Ag) in the form
of precipitation by the reaction of

: 1 argentate ions with this
142, In the electro magnetic spectrum, dicyanoargen 1

which of the following rays have PORERE -
more wavelength, is .... (1) Aluminium dust
(1) Gamma-rays (2) Copper dust
(2) IR-rays (3) Magnesium dust
(3) Xe-rays (4) Zinc dust
(4)  Radio-waves CoPgded corSuic U SRyl
Dlagictodmot Bgsued ©¥ BUIDY o BEToBod Ag &ty ondn srnedt
5DA% 3Gepes Joloordd
(1) oo dueme (1) cersoncie Ste
(2) uodees d8emes (2) onurge
(3) X-3zereo (3) RoAdoie toge
(4) da@r e (4) o8 urie
TET-211-EM/TM [28]

Page - 28


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

A

Booklet Code

viethodology

145. Formative evaluation is done ....

(1) Before starting the
instruction.

(2) During the process of

instruction.

(3) After the completion of the
term.

(4) Before admission into a
course.

P . - -
(1) Syt Soofotoe Sasals
L o o B w S =4
Ez]]' FS) ;‘:.l 2"".".:&..,-; :;u.A.-‘J’_.-
(3) b rtoass Boud

146. Incorrect statement with regards to

Audio-visual aids.
(1) They motivate the students.

(2) They are not accordance with
the principle of concrete to
abstract.

(3) They speed up learning.

(4) They help in presenting which
can not be seen with un-aided
eye.

147. This is not a suitable role for a
science teacher.

(1) Facilitator
(2) Financer
(3) Manager
(4) Counsellor

148. When a student stopped using
plastic covers after listening to the

lesson ‘Synthetic fibres and
?Instics’, the objective achieved
is ...
(1) Responding
(2) Valuing
(3) Characterisation
(4) Organisation
wEwet Dl

*
S Eoe SPIIrussmnscs: Bewelel ediaitio Bovt Fit s LAY, TP
) et
whTD BNTEesond, PHotnd of g
- & <&
(1) 3% Sonioeis (@0LI0 (1) SOSsels
(=
=
(2) 32 osde Heed wlanml3 ol (2) TN e
o B s B spem = -~
o e e i S 1—.--—1—11,- - ;
(3) Godisee
" L
(3) 32 i, Antebe Sowm,
i i (4) St
R, PRI e s
(4) PoUcs Seddd HoEEl S Lrvtoed -
Shorsusoias,
s
TET-211-EM/TM [29]

Page - 29


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Booklet Code A

149. We can not say exactly that | 150. Which of the following statement is
construction of knowledge taken not correct relating to science kits ?
place in the situation.

(1) These kits act like small

(1) If the student reported the Lbatisa

concept taught by the teacher,
either in the class or in the
examination, without any
mistakes.

(2) These kits are useful in
schools where there are no

laboratories.
(2) If the student invents new
things by applying his (3) These kits are designed to
previous experience. carry anywhere easily.

(3) If the student defined the

h ki desi d fi
concepts by discussing in peer (4) These kits are designed for

: : : teachers.
group and with his previous
TR uph Ty Sdsess Boweded @8 Tt
(4) If the student applied the $O00.
learned concepts in new
situations. (1) ©: 533 05y BEFNTeeom™
H1 (308 Hebtyns® i Sonpass mAcsd s
HehBOT DsyBEe, P .
(2) EEFros 82 Dovved® o1 ddse
(1) ad@umnc  ©'0ods I8P ESEROT BOFO.
SOt Soved e Bl
BuHos’, whys' Jloolug. (3) JmaZT wwogorm GRSR IHTRd

G & edtcs Er2reboundnd.
(2) oo, AR d, SrEk *
addd = g = (4) & Ld¥es &Sguine 5SS

f 0 - - = Ly LV
(3) o0 WrowegTy JWdFiel, SPPoBotedRD.
wrnted 58l rRNeEs
;Do LH S

(4) 2ov0 oPfeody PHIERy WIOD
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